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¢} Mark the new reading of volume, V; on the diagram. (1mk)

4. mmofammkmmmmunm full of water. When full of

mercury its mass is 360g :
8) i. Calculate the mass of water that fills the density bottle. (§mks)

Mess 45q - 204 = 253
i, Cajcutate the mass of mercury that fills the density bottle. (Imk)
mags  360g - 209 = 3!-}-03

b) i. Given that the density of water is Ig/cmy’, calculate the volume of water that fills the density

battle. (Zmks)
mag § = 254 - 3
\’b‘ﬂvﬂﬂ. - d '* S a 53 255"]
Qu(| j l 3|c“ﬂ
if. Give the volume of ercury that fills the density bottle. (k)

: < %
Volum g A ”~ JLPGS = r— QSCH'?
iil. Calculate the density tﬂ'nercury. 2% C .....,2 (2mks)

e ——— = 3405 _ y3.¢ qlem
Vu\umi , r} i 3
5. 2} Define force and state its Sl unit. 250, (2mks)

"Fg,(ci s Q;‘ﬂfu.v & PHIL\) -] Fu“ Y & er't Py e EJEJECL :
£ UniE !\Jeua'bn-. ’
_h) Differentiate between cohesive and adhesive forces. (Zmks)
Cehesive foveas Ave Auvces of afivathon betweey molecules of fh<
Lo Kind Lhila g qunvqfcfcﬂ: QG ve jcfce.s‘ o.f- ﬁﬂ(ﬂﬂhbh
between molecules of ATrereirt Kiwd.
6. List two factors affecting surface tension

o (Z2mks)
g tﬁﬂpﬁfn‘}uie -
- ‘mpu-fi‘h'q-t
7. A body weighs 65N. Calculate its mass (g= 100K g) k)

Mce s = m“’-"si"!": » e

J‘fﬁi:"ﬂ"’tﬂnq[ 1 a”‘kj

= 6-5 ‘kj

Jorte
% Define pressure giving its S unit.

FI{.E £ vl [h-.t AGIFH:L“ e X - 'f‘fﬁﬁ Q&t':‘j mfw“b o
FQ"?EHA;C-‘“{MLB Pey waik QAVE & .

(2mks)
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9. :i;l Below shows a liquid manometer being used to measure gas pressure contained in a small
B '

i l;énnu: the pressure acting on surface of water at* (2mks)

¢ e .
Ar\“c‘f?hevnc. Pressuve -
it.  State why pressure at X is equal to pressure at Z. (Imk)

Pfﬁ-&'-‘uf'e_ "1+ "h'\ﬁ- Sawmg \QVGL\ '-:& ‘Hn.w_ Same -

. ifb=10cm, amospheric = 103000N/m® and density of water § 1000kg/m’, determine
pressure of the gas in the small bag. 4 iy ; (h::;

% = t\“tjﬂ-r Pn

=(0.| X {00 o ¥ lﬂ) T le3 o0 — lod-poo l\]‘“"‘}

: (2mks)
= InComprecilel ¢
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11. Figure below shows a iR pump.
i

| S Weler T T e mtig]] I o -
a) Name the valve that opens and the one that closes when the piston is pulled upwards.

| {Zmks)

Opens — ~Nalva 7

Closes — Valve X
b) Explain why valve Y closes when the piston is pushed downwards. (2mks)
Due 4o 14 Wﬂ;{j‘-«‘\' awd Tue Prec Suwna UT— voedkren

albove "1 -
12. a) State the kinetic theory of matter. : . (2mks)
n“iﬂ“ﬁ:- < rwa:'ucuf of ’hw f*:ﬂ-?dq: whicl, Ave vy Concttot '\"ﬂhn'bh

m&mmimupmw study motion of smoke particles in air.
State the purpose of’




m——— B ORI i
T ig v s
| -_ - mata ~ Ty

metal A

i.  Compare linear expansivity vaiues of the two metals. (2mks)
Metal A has g L"E;f}h Linmea ¥ ‘E?CPGMIUH:’ ot

Ay Cosrpoaved 4o ™m<ial 8 .

fi.  Siate how the two metals are joined together, {(1mk) i
En iwwets. Fe
fii.  State one application of the bimetalix stnp. {1mk)

-{ Wowwmanote e fi.ﬂd‘*ﬂé‘ﬁ.‘. Q | lhh‘c# ff o
14. Give & reason for cachof fhe*allomm. P?
i. In building contraction steel metal is used $o reinforce concrete. (2mks)

Steol a-d Comevete hae jle Same Lincay QKPaﬁ.Ew;‘l-d rate -

i Ordinary glass tumbler breaks when hot water is poured in it, - £ ook
Ut water heade the Inner walle of fhe glassr Mmaking it expane
Lopite The outer wall dees met, nassungs Woskpaods Dldket e,

Tk;;( i’.‘fﬂn}a“ G‘N‘ﬂv‘j ’fﬂ'fCﬂil' < QKPQM‘EF;‘ m:‘- Lreak -
15. State one advantage of alcohol over mercury when as a thermometer liguid. (imk)

Alcde) Has o Low malheg poing (fraemidy poiut) used by mane
b cem@mg e £ fuat con MERTHIRRED  Touw.pevalrds

2981k -2F3 = 28 °¢C

17. State the three modes of heat transfer. (3mks)
'Cnuo‘utﬁ'ln*u ¢
“Radigtien- -3
“Conveetion -

_— h‘l - - L
. u'l" ]
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g)::

i8. mmmmmmdmmwmandammm_
» Lengh. ©f Tue ratevial (3mks)
_ Twitkme rs  Of Thg wraderi &l
_1:"?* of thwe wedevial -

9. Explain why meials conduct heat faster than non-metals. (2mks)

Mekale uce lbbotl atom Vibrahin auwd elechowng
'l:ﬂ* C“hdut{ .
30. Give a reason why two thin blankets ase warmer than one thick bianket. {Imk)
Thi tﬁ:_-)iv bl '*‘ﬁ?x Qv ,
Mt & & Pooy Covciudioy o "\Qc&f .

21. Give two differences between mass and weight. (4mks)
*“ﬁtﬂ e Aua ‘}‘-ﬂﬁ"':‘lh ;(‘. e | w&;%u&; 1t e Pull tf 3?‘\'4;-'\'3
fve o, ﬂmut.ﬁ-l: | _ﬂhhﬁh ﬂbd&{_.\- .
i+ 1t "reaswved “-hﬁb_ch beam | qughqu\ u.nvis & ‘rpﬁﬂb
balance balewce .
o ‘ﬁuﬁuﬁab Y& oheo t‘-:‘uﬁ&’hi‘f\:, :
3 wuni}: ¢ Kilo gvawa SN stk e Meokee
&

Download this and other FREE revision materials@caméﬁ\%y-kW@ﬁSCan ner





